Alternative Home Learning for week beginning 08.06.20

Use these activities only if you are finding the Oak Academy isn't right for you and your style of learning. If you decide to use this pack instead of

the Oak Academy then you might find some of the tasks are different. You will be covering similar topics but it might be done in a slightly different
order and with different tasks.

Task for Tuesday

Reading Reading - "Daily News - Plant Plastics” then complete the reading
comprehension

SPAG Task | Watch the video on Espresso about forming nouns using prefixes
Link to video

Then complete the quiz questions.

Maths Task | Today we are continuing with equivalent fractions.

Have a look at the lesson notes to find out the skills you need to use
to complete the pages in the workbook. You are going to be making
angles.

Complete pages 97 in your Maths No Problem workbook.

Science Task | Play the game to help you recognise the parts of a plant.

Times Table | Spend 15 minutes practising your times tables.
Rock Stars



https://central.espresso.co.uk/espresso/primary_uk/subject/module/video/item372629/grade2/module305320/collection361815/section361775/index.html

Maths

Fold the paper again to get 6 equal parts.

Finding Equivalent Fractions

2 parts out of 6 equal parts are shaded now.
2
~ of the paper Is shaded. Fold the o g ‘
12 equal parts. 2
S How many parts are shaded? “

B
1 What Is the name of each part? i
Sam thinks that g can be written in other ways.

Is Sam correct?

Let’s Learn The fractions % % and % have different numerators and denominators.

Fold a plece of paper into 3 equal parts. ' Bt thay e squal.

Shade 1 part. How many parts are

shaded? What (s the
name of each part?

1 part out of 3 equal parts Is shaded. %

i
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— of the er Is shaded. - 3 gl B
3 Pee 3 | ¢~ denominator 3 6 12
l, 2 and > are equivalent fractions. e
3 6 12
1 They are equal.
{ ! In ;’ 1(s the numerator Are there other ’( What are other equivalent fr:ctlons of 1 ?
Use—T—T—to hel .
and 3 (s the denominator. ways to wr!te i, = T
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Guided Practice
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Look at the diagram.
Find the missing numerators.
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The 3 figures are cut into equal parts.
What fraction of each figure Is shaded?

Are the fractions equivalent?
Why or why not?

Complete Worksheet 7 - Page 97




Reading
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Science
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